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Question Number : 1 Question Id : 34844245277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the statement about development that is not correct.
Options:

1. Development is multi-dimensional and multi-directional.
2. Development is not effected by cultural changes.

3. Development is a lifelong process of change.

4. Development follows a predictable pattern.

Question Number : 1 Question Id : 34844245277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 34844245278 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cognitive development among children is the result of -
Options :

1. only heredity

2. only environment

3. interaction of heredity and environment

4. only economic factors

Question Number : 2 Question Id : 34844245278 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 34844245279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A stage in development when an organism can most rapidly acquire a particular skill or

characteristic is called

Options :

1. sensitive period

2. zone of proximal development
3. developmental delay

4. cognitive stagnation

Question Number : 3 Question Id : 34844245279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 34844245280 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of children base their play on a dance reality show. Imitating a Judge, Zafar climbs up on a

table and claps while giving comments. Which agency of socialization is illustrated in this example?
Options :

1. Media



2. Educational institutions
3. Neighbourhood

4. Religion

Question Number : 4 Question Id : 34844245280 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 34844245281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Following Jean Piaget's theory of cognitive development, at which stage of development, concepts

requiring hypothetical - deductive reasoning should be presented to students?
Options :

1. Sensori - motor

2. Pre - operational

3. Concrete - operational

4. Formal - operational



Question Number : 5 Question Id : 34844245281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 34844245282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The concept of ‘collective monologue’ has been given by:
Options:

1. Jean Piaget

2. Lev Vygotsky

3. Jerome Brunner

4. Albert Bandura

Question Number : 6 Question Id : 34844245282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 34844245283 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a Vygotskian classroom, when a small group of classmates work towards reaching a common

goal, they are engaging in

Options :

1. reciprocal teaching
2. cooperative teaching
3. scaffolding

4. inner speech

Question Number : 7 Question Id : 34844245283 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 34844245284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky believed that-

Options:

1. children should not be given any help while doing tasks even when the tasks are new for them.

2. children should be scaffolded while solving problems by giving them hints or asking leading

guestions.

3. children should be allowed to work on problems on their own without any interaction with

adults.

4. Children should be encouraged by the teacher to work on tasks offering them appropriate

material rewards.

Question Number : 8 Question Id : 34844245284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 34844245285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Carol Gilligan-

Options :

1. argued that feminine morality emphasises an "ethic of care" that is devalued in Kohlberg's
theory of moral development.

2. agreed with the conception of ‘care’ and ‘justice’ as presented in Kohlberg's theory.

3. Critiqued that Kohlberg did not refer to Piaget's theory of moral development.

4. expanded upon Kohlberg's theory of moral development to include 2 more stages.

Question Number : 9 Question Id : 34844245285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 34844245286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Advocates of child-centered pedagogy believe that -

Options :

1. Individual experiences are central to the learning process.

2. classroom should be dominated by instructions from the teachers.
3. children's experiences outside the school are irrelevant for learning.

4. children cannot be expected to reason and think independently.

Question Number : 10 Question Id : 34844245286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T Shi=ad 19147 3 AT T A=A 2 o6
Options:

E*J'%n'fm'x?ﬂﬂaaﬁw TTaRa] ﬁ%rﬁﬁﬂﬂﬁmi IEE LR

, T H AU F a9 1 AU BT =110

m%mwﬁwrxm@w 2ATENTT O 2757 2

4, STETRT & T8 ok ST T=a ol STURTT a1 o ST o]

Question Number : 11 Question Id : 34844245287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Howard Gardner’s theory of multiple intelligences, which of the following is not

included as a specific type of intelligence?

Options :



1. Spatial intelligence
2. Bodily - kinaesthetic intelligence
3. Naturalistic intelligence

4. Creative intelligence

Question Number : 11 Question Id : 34844245287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 34844245288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be helpful in reducing gender disparities in middle school?
Options :

1. Promoting gender segregated seating arrangements

2. Focusing on conformist gender roles

3. Encouraging gender - stereotype flexibility

4. Modelling gender typing



Question Number : 12 Question Id : 34844245288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 34844245289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Individual differences in the preferred learning styles of learners should be by the

teacher.
Options:

1. respected
2. ignored
3. avoided

4. dismissed

Question Number : 13 Question Id : 34844245289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 34844245290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT correct in the context of holistic, 360-degree,

multidimensional report proposed for assessment of students in National Education Policy 2020?
Options :
1. The report will include self and peer assessment.

2. The report will include progress of students in the cognitive, affective and psychomotor

domains.
3. The report will form an important link between home and school.

4. The report will focus on individual work only and not include group work.

Question Number : 14 Question Id : 34844245290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 34844245291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an effective way to assess critical thinking among student?
Options :

1. encourage the student to ask questions and analyze their responses.

2. test accuracy of repetition and recall by the students.

3. observe how closely children listen to direct instructions of the teacher.

4. analyze students' errors in copying of passages from the textbook.

Question Number : 15 Question Id : 34844245291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 34844245292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusion of students with disabilities requires
Options :

1. Inaccessible infrastructure

2. Inequality of opportunities

3. Barriers to participation

4. Non - discrimination

Question Number : 16 Question Id : 34844245292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 34844245293 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Difficulties in reading:

Mirror images confusions and reversals of letters are characteristics of-
Options :

1. Attention Deficit Hyperactivity Disorder

2. Dyscalculia

3. Dyslexia

4. Autism

Question Number : 17 Question Id : 34844245293 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 34844245294 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Locomotor disabilities pause challenges to:
Options:

1. Learn and display skills of problem solving

2. Understand verbal communication



3. Execute distinctive activities associated with shifting of objects

4. Participate in games based on concentration

Question Number : 18 Question Id : 34844245294 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 34844245295 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to cater to the needs of students with Dysgraphia, a teacher should:
Options :

1. Increase the amount of writing required to complete an assignment

2. Criticize the students for irregularities in writing

3. Ask students to complete writing work in restricted time.

4. Use oral modes of assessment

Question Number : 19 Question Id : 34844245295 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 34844245296 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gifted and talented students should be provided with -
Options :

1. teacher approved learning opportunities only.

2. assignment based on recall of facts only.

3. challenging learning environments.

4. close and constant monitoring for all tasks.

Question Number : 20 Question Id : 34844245296 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 34844245297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To encourage conceptual learning among students, a teacher should avoid-
Options :

1. asking students for different ways of solving a problem.

2. sequencing topics from complex to simple.

3. encouraging students to establish associations between sub-concepts.

4. focusing on procedural knowledge.

Question Number : 21 Question Id : 34844245297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 34844245298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following question will be helpful in enhancing metacognitive skills among students?
Options :

1. What steps were followed by you to solve the given problem?

2. What are the various component of an ecosystem?

3. What is the chemical formula of water?

4. What are the differences between a map and globe?

Question Number : 22 Question Id : 34844245298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 34844245299 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is favourable to facilitate meaningful learning for students?
Options:

1. an environment conducive for discovery learning and construction of knowledge
2. exclusive focus on memorization skills among students

3. inculcation of a competition - oriented attitude among students

4, pedagogies which are majorly teacher - centered

Question Number : 23 Question Id : 34844245299 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 34844245300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An effective teacher -

Options :

1. focuses on undifferentiated instruction and standardized assessment.
2. takes care of the emotional needs of his students.

3. penalizes students for ‘wrong answers'.



4. focuses on reproduction of knowledge ‘as it is'.

Question Number : 24 Question Id : 34844245300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 34844245301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a desirable practice in teaching students in middle school?
Options :

1. Encouraging students to figure out multiple ways of problem - solving

2. Encouraging single method of solving any problem

3. Dictating step by step solution of a problem

4. Discouraging group work and peer collaboration

Question Number : 25 Question Id : 34844245301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 34844245302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inlong - run, -oriented goals will keep students intrinsically motivated.

Options:

1. Performance
2. Competition
3. Learning

4. Avoidance

Question Number : 26 Question Id : 34844245302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 34844245303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Misconception are:

Options :

1. unusual to get formed among students.
2. normal part of learning process.

3. purely illogical and baseless.

4. hindrance to teaching - learning process.

Question Number : 27 Question Id : 34844245303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 34844245304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): it is important to encourage children to speculate over causes of various

phenomenon occurring around them.

Reason (R): Children seek to understand the causes of everything they see around them and these

causal explanations lead them towards construction of mini theories.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 28 Question Id : 34844245304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 34844245305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teacher should make efforts to connect new concepts to children’s prior experience

at home.
Reason (R): Learning is a continuous process that takes place outside the school as well.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 29 Question Id : 34844245305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 34844245306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Graphical tools for organizing and representing knowledge and relationships on a given topic is

called

Options :

1. Analogy

2. Algorithm

3. Concept maps

4. Verbalization

Question Number : 30 Question Id : 34844245306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 34844245307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 5.05
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Question Number : 31 Question Id : 34844245307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 34844245308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If (_?3)_3 oy (z)_2 , then the value of (2x +5)Lis

Options :
1. 2

R B |

W b

Question Number : 32 Question Id : 34844245308 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B YR o
I (—2) sx= (Z) a5y lwmram e
Options:

1. 2

W o

Question Number : 33 Question Id : 34844245309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 5607 + X is a perfect square, then the least value of x lies between
Options:

1. 10 and 13

2. 13 and 16

3. 16 and 19

4. 19 and 22



Question Number : 33 Question Id : 34844245309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e 560%};1&7@3??%53‘“-% SRR e FE= T 2

Options:

1 10 31 13
, 1337 16
3 16 3T 19
4. 193722

Question Number : 34 Question Id : 34844245310 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT true?

Options :

1. Multiplication is associative for integers.

5 Division is associative for integers.

.. e 4
= is the multiplicative inverse of 1 — .
3. 9 <
. -7 -3 . -5
A rational number between— and — is— .
10 5 2]

Question Number : 34 Question Id : 34844245310 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
et 5 & %7 a0 781 29
Options :

. TUT QUTTehT o ToAT, Fe=] 2

, ferarem quitent & ferm we=mdr 2

i E "
1 - =1~ TN TTaeAE 2
3. " ud g9 =

_? _3 ~ _5 [ -
e 3ﬁ7— %ﬁmq— Uch WY el %l
4. 10 . 8

Question Number : 35 Question Id : 34844245311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ZxEZ+(ZE)

let p = . What is the reciprocal of ?
—FaBal Syl
A5 5
Options :
1
1. 4
—1
2. 8
3. —8



Question Number : 35 Question Id : 34844245311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

)

p=F T It A p AR

- - -

Options :

1

Question Number : 36 Question Id : 34844245312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hari purchased two watches for 32500 each. He sold them, gaining 5% on one and having a loss of 4% on the other. His
gain/loss percent in the whole transaction is

Options :
1. gain, 1%

2. loss, 1%

. lﬂ/
ain, -
3'2 Py A



1
loss, — %
2

Question Number : 36 Question Id : 34844245312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
B0 2 T 3 8 T < 2500 % RT3 T 1 %% 1 0 74 €61 31 49 BT 0 T SR A

Options :

1, A, 1%

Question Number : 37 Question Id : 34844245313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e A ey . BoyD
(4}: 6}?) (4x+6y) is equal to

Options :
1,
5

Ty i x};



3, 5%

Question Number : 37 Question Id : 34844245313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gr-50) - (245 s
Options :

—.q i
1, =8

Question Number : 38 Question Id : 34844245314 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The expression

x*—2x—15
x24+8x+15

x (x?+ 4x — 5)

is equal to

Options :



1. x2—-3x—5

2 X*+3x+5

3'.1'2—61""5

4_.?[.'2"‘61'—5

Question Number : 38 Question Id : 34844245314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

STeh

2 — 2% —15 5

x? 4+ 8x + 15><(x B =y
T E

Options :

. x*—=3x—-5

, x*+3x+5

3.x2_6x+5

4x2+6k’3—5

Question Number : 39 Question Id : 34844245315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



f3Gx+7)+4(x—13)=25x-7 ,
then what is the value of

3x4+7
2
4

Options :
—5
1. 4

W= | L

B3l

Question Number : 39 Question Id : 34844245315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. 3x+7 .
TR 3(5x27) + 4(x—13) = 25x—T &, A —— WA T
Options :
5
.
5
2. 4
5
3. 2



Question Number : 40 Question Id : 34844245316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ifm = (3x+4y) (2x+ 3y) and

n = (x — y)(3x + 5y), then

the coefficient of xy in (m —n) is
Options :
1. 15

Question Number : 40 Question Id : 34844245316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e, m= (3x+4y) (2x+3y) T
n = (x—y) (3x+5y) B
(m—n) T xy WW‘:" —
Options :
1. 15

2 12



3, 17

Question Number : 41 Question Id : 34844245317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two dice are thrown simultaneously. What is the probability that the sum of the numbers appearing on their tops is at
|east 97

Options :
1

1. 4

SO D

Question Number : 41 Question Id : 34844245317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

31 WA 1 U2 1Y T ST €] $79 SO T2 7% W] 3 A A O B 1 e #4727

Options :

1

. 4



O | B

w
b—"l
oolm

Ea
o N

Question Number : 42 Question Id : 34844245318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the mean of the mode, median and range of the following data?
18;11;:20, 25, 17;9; 14, 11, 13, 21, 16, 10

Options :
1. 13.5

2. 14

3 155

Question Number : 42 Question Id : 34844245318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T aTieReT % SEeTe, AT AT U S AT 41 2
18, 11.:20.25.17.9. 14. 11 13.21.16: 18



Options :
1. 13.5

2 14

w
U
Lh
n

4. 16

Question Number : 43 Question Id : 34844245319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A solid metallic cuboid of dimensions 12em X 9em X 16¢m is melted and recast into 216 cubes of the same size.
What is the lateral surface area of two such cubes?

Options :
1. 24cm?

2 32cm?
3. 36cm?

4. 48cm?

Question Number : 43 Question Id : 34844245319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

et 12 em ¢ 9 e x lécmmﬁmaﬁﬁﬁr@%wﬁﬁaﬁmwmﬁ%zlmmaﬁlﬁ‘.ﬁﬁaﬁ
TP G )

Options:



.
1. 24 cm”
.
2 32cm”
.
3. 36 cm”

4. 48 cm’

Question Number : 44 Question Id : 34844245320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sides of a triangular field are 32m, 60m and 68m.
The area of this field is equal to the area of a rectangular field whose sides are in the ratio 15 : 4. What is the longer
side of the rectangular field?

Options:
1. 45m

2. 60m
3. /5m

4. 90m

Question Number : 44 Question Id : 34844245320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

%ﬁfﬁw @H#ﬁmﬁﬂ m, 60 m 37 68 m 7] 0 G 1 G T AT G & W%W%,
IR ST 154 % ST 2] 96 TR @ o1 ) ¥ o1 e 1 2

Options :



45m

—

2 60 m

Question Number : 45 Question Id : 34844245321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The perimeter of a thombus is 60cm and the length of one of its diagonals is 24cm. What is the area (in cm?) of the
rhombus?

Options :
1. 120
2. 192

3. 216

4. 264

Question Number : 45 Question Id : 34844245321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%ﬁﬂﬁ@éﬁﬂﬂ&qﬁﬁo cm & YT F T T 1 wfae 24 om B sﬁﬂwgﬁn 1 G (e ) L)

Options :
1. 120



5 192

w
(o
=y}

4 264

Question Number : 46 Question Id : 34844245322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If x,y and z are respectively the number of faces, vertices and edges of a pentagonal pyramid, then the value of

2 +3y-22'6
Options :
1. 8

Question Number : 46 Question Id : 34844245322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TRX, }-’ﬁﬁzmzﬁﬁm JSlE3 T 3 TTTee Wﬁﬁmﬁl@ﬁ?ﬂh—h‘hwm%

Options :
1. 8



Question Number : 47 Question Id : 34844245323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

x and y are two complementary angles such that their difference is equal to 10° If x>y, then the value of
2y—-20°is

Options :

1. 30°

2. 40°

3. 50°

4. 60°

Question Number : 47 Question Id : 34844245323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

X aﬁ'{yﬁuém 01 30 TR & 19 399 0 10° Fae e a‘%xﬁy%ﬁly—li}o FARE:

Options:



Question Number : 48 Question Id : 34844245324 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ifin two triangles ABC and DEF, AB=4.5cm, AC=4cm, 24 = 55°,DE = 4em, FD = 4.5¢cm and £D = 55°, then
which of the following is true?

Options :

1. AMABC = ADEF
2. ABAC = AEDF
3. AABC = AFDE
4. ABAC = AFDE

Question Number : 48 Question Id : 34844245324 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T 21 FIvs ABC &R DEFH, AB=4.5cm, AC=4 cm, ZA=55°, DE=4 em, FD=45em 3L D=

55° 2 AfEr A9 FR T )
Options :
1. AABC = A DEF

, ABAC = AEDF

3. AABC = AFDE



4. ABAC = AFDE

Question Number : 49 Question Id : 34844245325 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be the sides of a right angled triangle?

Options :

1. 3.5cm, 3cm, 5cm
2. 2.5cm, 6.5cm, 6cm
3. /tm, 12cm, 13¢cm

4. 1.5cm, 2.5cm, 1.8cm

Question Number : 49 Question Id : 34844245325 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TATCARET = | I U3 FhI0] 1T 3h1 ST, &1 e 57

Options:

1 35cm, 3 cm, 5 cm
5 25¢cm, 6.5cm., 6 cm

3 7cem, 12 cm, 13 cm

4 1.5cm. 2.5cm, 1.8 cm



Question Number : 50 Question Id : 34844245326 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If 54°,x° 80° and 116° are angles of a quadrilateral, then the value of 3x — 140 is

Options :
1. 170

5> 190
3 132

4. 110

Question Number : 50 Question Id : 34844245326 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A 54° ,x°,80° 2R 116° T =qHS % HI0 2, Al 3x—140 FT A 2:

Options :
1. 170
2 190
3, 132
4. 110

Question Number : 51 Question Id : 34844245327 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which among the following is/are the most desirable feature of an activity for teaching mathematics.
(a) It should stimulate the visual, auditory and kinesthetic learners
(b) It should provide opportunities for children to work and discuss together
(c) It should provide maximum opportunities to the student to face the examination and secure good marks

Options:
1. aandb

2 bandc
3. aandc

4. only c

Question Number : 51 Question Id : 34844245327 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
O T F T % e & o 3 @ - 01 AT s 27
a) % 31T, 47 S T ST ot Seniee) e aet g ey
b) T2 ST 38 O T S A R T 6 O Y R 9 AR U6 O AT B e
c) T TR 1 YA T 5 AT T4 7 TR 8 3 T, AT A 1 T 707 e €
e
Options :

1. aaﬁTb

2. baﬁTC
3. aaﬁTc

4. mﬂ



Question Number : 52 Question Id : 34844245328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct about the assessment?
Options:

1. Criterion Referenced Assessment is to evaluate the mastery learning of the students against a criteria
5 Criterion Referenced Assessment is useful in diagnostic testing and remedial teaching
3. Norm- Referenced Assessment tells us where a student stands compared to other students in her performance

4. Norm- Referenced Assessment is useful in diagnostic testing and remedial teaching

Question Number : 52 Question Id : 34844245328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 3 TN H Feeiad 8 o FH—97 F97 98 T8t 27
Options :

| TG Rl STTeRer P 1 (VT SATee i i h HTa o ST 0 el o

, TEE HEa SATHT TET-eF TQ0T 1 SU=IHIeHe 3107 5 S9=i 2

; A - SR B8 ST 2 (o U3 DT 370 TE¥ 5 37 T 1 Gt o e @ 2

4, TTF—HETH SR JaT=e W0 SR SU=RIeE 316707 J SUFr 2

Question Number : 53 Question Id : 34844245329 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A middle school mathematics teacher poses the following question to her
class:

‘In class 1, the ratio of girls to boys is 4:3. In class 2 the ratio is 8:6.
Suppose each class has 28 students. Are these ratios equivalent?

She gets the following responses from two students:

i Class-1 — 4:3 Class-2 — 8:6
E GGGGE | GGGGE | GGGG | GGGG GGGG GGGG GGGG
i EEE EBEE BEEB EEE = GGGG EEE EEB
EEE EEEBE
- 4 8 4x2 4
5 Class-1 — — Class-2 & —=——=-—
g 3 IxZ 3

The teacher should :

Options :

1 give full marks to both the students as both the methods are different but correct to solve the problem
o give full marks to both the students but advise student (1) not to use this method in written examination
3 give zero marks to student 1 as mathematical problems should be represented by numerical symboals only

4. give full marks to both the students but asks student 1 to discuss the formal strategy with student -2 for future use

Question Number : 53 Question Id : 34844245329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



v fafeet Tger st Tiurg st et 7 ot e 7 ffreriaa v oo
THET | T TSN T TSHT § ST 4:3 B Faqr—2 T T 8:6 2
T =it e e F 28 farameff ¥ = 3 erue wEgew 8

=0 ot v @ FreferRes wfafwmand et &

- Class-1 — 4:3 Class-2 — 8:06
E GGGG | GGGG | GGGG | GGGG | GGGE GGGEG GGGG GGGG
BBEB BEB | BBE | BBE | | EEBBEEE EBE BBB
4 8 4x2 4
r Class-1 — — Clasg2 -+ —=——=-—
E 3 6 3x2 3
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Options :
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1.

s

3T BT W 3 <, AR S| 1 HEATE 3 1 (oARa W | 3 fatey im0 7
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. TP~ 1 075, o T et 1 aer SRGaTraes Jetent 31 Gt <A =iee

T G P O 2, e - | T T 9T A, -2 1 e AT 7 et o T
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Question Number : 54 Question Id : 34844245330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Integration of Technology with mathematics teaching — learning is faced with many challenges. This is because

Options :

1. use of technology limits the mathematical visualisation abilities of students

5 use of calculators limits the development of computational skills in students



3. it interferes with the role of teacher

4. Mathematic curriculum needs to be redesigned in order to integrate technology

Question Number : 54 Question Id : 34844245330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ﬁﬁﬁﬁm@wwﬁmﬁmmaﬁm%wwﬁmaﬁhﬂ T T ST T U 2, -

Options :

, SITEITeh 31 ST feramet ot AoTea) qeeftarat st Arararedt i Wirere e 2|

, gnm@%dt‘cﬁuutﬁu Satelat & Shees F 19T ot 91T FaT 2

; % ST T ITH F WY T FA 2

. SHRITTeAT 3% TeATeRTUT 36 170, TT0Td 31 Q@ =1 361 U TT=id it 31 ATl o

Question Number : 55 Question Id : 34844245331 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In recent NCERT textbooks we find various episodes of children having a dialogue on mathematical problems. Such
anecdotes have been added to -

Options :

1. represent ge nder equality through textbooks
2. bring humour into the textbooks

3. make the chapter interesting



4. Make mathematics contextual and part of daily lives of children

Question Number : 55 Question Id : 34844245331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

mﬁmﬁrﬁmﬁ#m@gﬁﬁﬁmﬁ@am%mﬁﬁﬁTafh—q T 2 T = TR e
TG % T 2 3 T 3 o 1 T 2

Options :
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Question Number : 56 Question Id : 34844245332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework (2005), school mathematics should take place in a situation where :
(a) mathematics is part of children’s life experiences.
(b) children use abstraction to perceive relationships and structure in mathematics
(c) children memorise important algorithms

(d) children solve textbook questions with a focus on arriving at the correct answer
Choose the correct option-

Options :
1. (a) and (c)



2. (c)and (d)

3. (b)and (d)

4. (a)and (b)

Question Number : 56 Question Id : 34844245332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T W= B wwEr 2005 % TR el IO Uk Ut fRufe 9 2 =eT, SR -
a. TG SF=a 25 WA % Wl T (e 2|
b. rm&mrrwmfﬂmﬁﬂmﬁmmmt
c. a—.rn?awn—rrrﬁmw%ﬁxmmﬁl
d. mv@w$ww=amﬂ?ﬁwam§aﬁm%%ﬂﬁ!

e ferea
Options :

(a) 3T (c)

1.

(c) 3R (d)

2.

(b) 3T (d)

3.

(a) #R (b)

4,

Question Number : 57 Question Id : 34844245333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In middle school, which one of the following strategies is most appropriate for introducing the topic of Area and
Perimeter of 2-D shapes?

Options :

1 Write the formula of area and perimeter of different 2D shapes on blackboard and ask the student to memorise them

Draw some regular 2-D shapes on a graph paper and ask the students to count the number of units along the
2 boundary and square units for perimeter and area respectively

Display a chart of formulae for area and perimeter of different shapes in the class and ask students to solve questions
3 by using formulae from the chart

4. Startthe class with a formal definition of area and perimeter of a given figure and then introducing the formula,

Question Number : 57 Question Id : 34844245333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3% e 3 4T TR 2 G S T 3 3 W1 2 370 9 - 91 e S0

Options :

T e AT 5 e A T 5 9 g e o, e 1 5 7 04 e

TS % 7 31T SRRt et S e a1 S 5 1 T S 45 o, 7T o 4T
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TP (AT AT 3 G T 5 7 1 1 TEu 0 G 12 0 o AT 3 1 et
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. ST STEBIT o 7T ST AT 51 AT W & P 8 e e 0 78 1 e 1



Question Number : 58 Question Id : 34844245334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following(s) is/are true about axioms in mathematics.
a. axioms are prepositions which require proofs.
b. axioms can be used to prove other mathematical problems.

Options :
1. Only a

2. Only b

3. Both a and b are correct

4. Both aand b are incorrect

Question Number : 58 Question Id : 34844245334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTUTe = S (Axioms) 3 (999 3 =aRes ¥ & SH-91/9 98 272
a. TITHE 9T 2 5 150 Suufe S1/avas 2
b. THTEE T IYTNT 277 O 94T T THg o o Toq0 TRt 1T ke 2

Options :
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Question Number : 59 Question Id : 34844245335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Recently a competency-hased assessment (SAFAL) has been introduced to provide diagnostic data and developmental
feedback to schools and teacher to improve teaching and learning.
SAFAL stands for -

Options :

1. Summative Assessment for Analyzing Learning
2. Summative and Formative Assessment for Learning
3 Structural Analysis for Advanced Learning

4. Structured Assessment for Analyzing Learning

Question Number : 59 Question Id : 34844245335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 34844245336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3 1
Mr. John asked a question in his mathematics class. Find 4 rational numbers between » andE . This Is an example of :

Options :
1. Objective type question

2. Contextual question
3 Open-ended guestion

4. Closed-ended question

Question Number : 60 Question Id : 34844245336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 34844245337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An object is put one by one in three liquids P, Q and R having different densities. Consider the following statements and
arrange the liquids in ascending order of densities.
A) Inliquid P, object is completely submerged

B) Inliquid Q, object floats with (1/ 4) th part of its volume inside the liquid
C) Inliguid R, objects floats with (lfz) th of its volume inside the liquid

Options :
1. R=5Q =P

, P< Q<R
3 Q<R<P

4 P<R<AQ

Question Number : 61 Question Id : 34844245337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 77 o 17 7 P, Q 4 R % 9 A - e T ) 9 el 1 S0 T 21 57 740 1 97
Tl 3 TR 37 T
A7 P8, 75 e 8 A

b 3 3 Y 1 3\ =l
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Options :
1. R=Q<P

3 Fh:i: Q{ R



5, Q<R<P

P< R{Z:Q

Question Number : 62 Question Id : 34844245338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The part of human ear which converts sound vibrations into electrical signals is -
Options:

1. Cochlea

2. Stirrup

3. Hammer

4. Tympanic membrane

Question Number : 62 Question Id : 34844245338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 34844245339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following features help Polar bear in adaptation in Polar regions
A. White fur
B. Long curved sharp claws
C. Webbed feet

Options :
1. Only A

2. AandC

3. Aand B

4. A BandC

Question Number : 63 Question Id : 34844245339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 34844245340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify which of the following are chemical change(s)
A) Tarnishing of a silver cup
B) Sublimation of naphthalene balls
C) Electrolysis of water
D) Condensation of steam
E) Drawing of wire of aluminium

Options :
1. AB

> GD
3 AC

4. BD

Question Number : 64 Question Id : 34844245340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. AB

2. G.D

A C

B,D

Question Number : 65 Question Id : 34844245341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Minerals are important component of water. Which of the following water purification process lead to heavy loss of
minerals.

Options :
1. Boiling

2. Filtering

3. Reverse osmosis

4. Filtering and boiling

Question Number : 65 Question Id : 34844245341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 34844245342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is generally true of non-metals?
Options :

1. They do not react with water.
2. They do not react with air.
3. They react actively with acids.

4. They make a ringing sound when struck.

Question Number : 66 Question Id : 34844245342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FrefeTtas & & 17— o HHT B9 § ST F o we 20
Options :

| T o Y AR T2 |

, Era@%waaﬁ%mqﬁa?@ﬂ



5 T, ST WY WioRa B W AT FA 2

4. U FH W T 715 39+ 3 2

Question Number : 67 Question Id : 34844245343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Adult silk moth has a very short life span during which they
Options :

1. feed on plant sap with piercing and sucking type of mouth parts.
2. feed on mulberry leaves with biting and chewing type of mouth parts.

3. feed on nectar.

4. do not feed as they do not have functional mouth parts.

Question Number : 67 Question Id : 34844245343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 34844245344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a balanced diet, which of the following constituents provide most energy?
Options :
1. Carbohydrate and protein

o Fat and carbohydrate

3. Fat and fibre

4. Vitamins and proteins

Question Number : 68 Question Id : 34844245344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 34844245345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bronchitis, breathing problems and worsening of Asthma are caused by

Options :

1. SMog.

2 excessive use of fertlizers in agriculture.

3 discharge of industrial waste in rivers.

4. acid rain.

Question Number : 69 Question Id : 34844245345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 34844245346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statement given below & choose the correct option

Assertion(A) : The rumen and caecum of ruminants have bacteria that's help in digestion.
Reason(R) : Bacteria of rumen ferments the food and releases gases with high concentration of Methane.

Options :

1. A and R are true and R is correct explanation of A
5 A and R are true but R is not correct explanation of A

3. Alistrue but R is False

4. Aisfalse but R is true

Question Number : 70 Question Id : 34844245346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 34844245347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statement given below & choose the correct option

Assertion (A) :Deer can look for danger in all directions
Reason (R) : Deer have eyes on the sides of their head

Options :

1 Both A & R are correct and R is correct explanation of A
o Both A & R are correct but R is not correct explanation of A

3. Ais correct but R is not correct

4. Both A & R are incorrect

Question Number : 71 Question Id : 34844245347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 34844245348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following hormones has a significant influence in the process of metamorphosis of frogs?
Options:

1. Testosterone
2. Adrenaline
3. Thyroxine

4 Progesterone

Question Number : 72 Question Id : 34844245348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 73 Question Id : 34844245349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following changes in a simple pendulum will leads to an increase in its time — period?
Options:

1. Increasing the length
5 Increasing the amplitude
3. Decreasing the mass of bob

4 Increasing the mass of bob

Question Number : 73 Question Id : 34844245349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 34844245350 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be direction of the reflected ray when a light ray is incident normal to a surface?
Options:

1 parallel to the surface
o perpendicular to the surface
3 atanacute angle with the surface

4. atan obtuse angle with the surface

Question Number : 74 Question Id : 34844245350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 34844245351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the statement given below & choose the correct option

Assertions( A): A boy observed that striker of carom board is moving easily when his sister spread some talcum
powder on the carom board.
Reason (R) : Talcum powder increases the friction between carom hoard and striker.

Options :

1. Both A and R are true and reason is the correct explanation of assertion.
2. Both A and R are true but reason is not correct explanation of the assertion.

3. Alistrue butR is false

4. Both A and R are false

Question Number : 75 Question Id : 34844245351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 34844245352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A boy was walking on the road when suddenly a thunderstorm occurred. What should he do to protect himself from
being struck by lightning?

Options :
1. Stand under the tree.

5 Keep walking.
3 Get into a nearby water body.

4. Squat low on the ground.

Question Number : 76 Question Id : 34844245352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 34844245353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What can you say about the length and pole strength respectively of a magnet which is cut perpendicular to its length
into two equal parts?

Options :

1. Both will be remain unchanged.
2. Length will be halved and pole — strength will be unchanged.
3. Length will be unchanged and pole — strength will be halved.

4. Both will be halved.

Question Number : 77 Question Id : 34844245353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 34844245354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct for a circular ring which is uniformly heated?
Options:

1. Its external diameter increases and internal diameter decreases.
2. Its external diameter decreases and internal diameter increases.
3. Both external and internal diameter increases.

4. |ts external diameter remains unchanged and internal diameter increases.

Question Number : 78 Question Id : 34844245354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 79 Question Id : 34844245355 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A rectangular block has the length, breadth and height of 10cm, 5cm & 3cm respectively. This wooden block is placed
on ground in three different ways.

Which of the following is the correct statement about the pressure exerted by the block on the ground?
Options :

1. The maximum pressure is exerted when the length and breadth form the base.
2. The maximum pressure is exerted when the breadth and height form the base.
3. The maximum pressure is exerted when the length and height form the base.

4 Pressure exerted is the same irrespective of which face forms the base.

Question Number : 79 Question Id : 34844245355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 34844245356 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reaction between which of the following will NOT lead to the evolution of Hydrogen gas?
(A) Magnesium with dilute hydrochloric acid
(B) Copper with dilute hydrochloric acid
(C) Sulphur powder with dilute hydrochloric acid
(D) Aluminium with dilute hydrochloric acid

Options:
1. AandC

2 BandC
3. Aand B

4, Aand D

Question Number : 80 Question Id : 34844245356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. ATD

Question Number : 81 Question Id : 34844245357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are regarding divergent guestion in science.
A) They promote critical thinking in learners.
B) They help in identifying individual differences in students.
C) They are very objective in nature.

Options :
1. AB

2 AL
3 BC

4 ABC

Question Number : 81 Question Id : 34844245357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. AB
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Question Number : 82 Question Id : 34844245358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

All of the following are acceptable aims of teaching-learning of science except :
Options :

1. to develop scientific temper
- todevelop open-mindedness
3. toencourage value-neutrality

4. fo promote research

Question Number : 82 Question Id : 34844245358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 34844245359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A science curriculum is said to be historically valid if it
Options :

1. has been developed by people with long experience in the field of education.
2 enables learners to build linkages between local scientific concerns and global issues.
3 enables learners to appreciate how the concepts of science evolve with time.

4. Provides interesting facts about recently discovered phenomena.

Question Number : 83 Question Id : 34844245359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 34844245360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true about science?
Options :

1. Science does not provide ultimate truths about the nature and its phenomena,
2 Development of scientific knowledge follow a linear path.
3 Scientific ideas are subjected to revision in the light of new evidences.

4. Science is not capable of solving all problems of our natural and social world.

Question Number : 84 Question Id : 34844245360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 34844245361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an inferential statement?

Options :

1. Objects released from a height tend to fall to the ground.

2 Fluids exert force of friction on objects in motion through then.

3. Every individual possesses two alleles and only one allele is passed on the offspring.

4. Objects tend to fall to the ground because of gravity.

Question Number : 85 Question Id : 34844245361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 34844245362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the usual sequence in a scientific investigation?
Options :

1. Observation— Experiment— Hypothesis— Analysis— Conclusions
2. Experiment— Observation— Hypothesis— Analysis— Conclusions
3 Hypothesis— Experiment— Observation— Conclusion— Analysis

4. Observation— Hypothesis— Experimentation— Analysis— Conclusion

Question Number : 86 Question Id : 34844245362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 34844245363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following student’s is least likely to elicit alternate conception in science.



Options :

1. Drawing
2. Diagnostic questionnaire
3. Checklist

4. Group discussion

Question Number : 87 Question Id : 34844245363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 34844245364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
All of the following are desirable activities in the context of science teaching & learning except :
Options :

1 promoting a cultural of collaboration and consultation.



o Using a range of activities and tasks for teaching learning.
3. affirming the superiority of science to all other disciplines.

4 ensuring equity and access.

Question Number : 88 Question Id : 34844245364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 34844245365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While explaining Evaporation, a teacher made the following statement:
water evaporates,

milk evaporates,

oil evaporate,

Therefore all liquids evaporates.

This is an example of :-



Options :

1. Induction
2. Deduction

3. Explanation

4. Justification

Question Number : 89 Question Id : 34844245365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 34844245366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true for teaching-learning of science?
Options :

1. Science is meant for a chosen few.

2. Teachers should set low expectations from students of rural backgrounds.
3. Science benefits by insights from people with varied background.

4. Boys are inherently better than girls at science.

Question Number : 90 Question Id : 34844245366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

59T o foTeur—oafenT & wey § e § & SH—91 9" 97 27
Options:

T qET % BT o ot fanernt ot e STUaTd 9wt =)

2

 TerfereT gferat =6 =T < et & fermim =pt & e

. ﬂ%ﬂ\fﬁgﬂﬂlﬁﬁﬁm?ﬁtm CRICR=RECid LR

Language I

SectionId : 3484421184



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3484422360
Question Shuffling Allowed : Yes

Question Id : 34844245367 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/complete
the statements that follow by choosing the correct options from
the given ones.

A survey conducted by Antony Synott at Montreal’s Concordia
University asked participants to comment on how important
smell was to them in their lives. It became apparent that smell can
evoke strong emotional responses. A scent associated with a good
experience can bring a rush of joy, while a foul odour or one
associated with a bad memory may make us grimace with disgust.
Respondents to the survey noted that many of their olfactory
likes and dislikes were based on emotional associations. Such
associations can be powerful enough so that odours that we
would generally label unpleasant become agreeable, and those
that we would generally consider fragrant become disagreeable for
particular individuals. The perception of smell, therefore, consists
not only of the sensation of odours themselves, but of the
experiences and emotions associated with them. Odours are also
essential cues in social bonding. One respondent to the survey
believed that there is no true emotional bonding without touching
and smelling a loved one. In fact, infants recognise the odours of
their mothers soon after birth and adults can often identify their
children or spouses by scent. In one well-known test, women and
men were able to distinguish by smell alone clothing worn by
their marriage-partners from similar clothing worn by other
people. Most of the subjects would probably never have given
much thought to odour as a clue for identifying family members
before being involved in the test, but as the experiment revealed,
even when not consciously considered, smells register. In spite of
its importance to our emotional and sensory lives, smell is
probably the most undervalued sense in many cultures. It is true
that the olfactory powers of humans are nothing like as fine as
those possessed by certain animals, they are still remarkably
acute.

Sub questions

Question Number : 91 Question Id : 34844245368 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The above research tries to establish the fact that
1. we are surrounded by odours all the time.
2. asense of smell is learnt.
3. we make use of smell without realizing it.
4. male and female sense of smell is different.

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 34844245369 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The odours generally labelled as unpleasant may be
considered fragrant for some individuals because of
a) the cultural association with a particular fragrance
b) the emotional association with a particular fragrance
¢) the physical association with a particular fragrance
d) the sensational association with a particular fragrance

(1) (a) and (b) are both right
(2) (b) and (c) are both right
(3) (c) and (a) are both right
(4) (d) and (b) are both right

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 34844245370 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Odour does not generally play any role in :
(a) making marriage matches.
(b)identifying family members.
(c) creating a bond between infants and mothers.

. (a) is right and (b) is wrong
. (b) is right and (c) is wrong
. (c) is right and (a) is wrong
Both (a) and (b) are right

L d =

i

Options :

1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 34844245371 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The experiment concluded that olfactory power of a human
being is
1. quite discerning
yet to be defined
a physical reaction
almost damaged

w1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34844245372 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Odour sometimes helps in creating social
associations
(b) A person’s cloths can also help us in identifying him

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right

Both (a) and (b) are wrong

&

Options :
1.1
2.2
3.3
4.4



Question Number : 96 Question Id : 34844245373 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following words is most opposite in
meaning to the word ‘undervalued’ as used in the phrase :
‘the most undervalued sense...........

glorified
endeavoured
praised
prized

L bd =

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34844245374 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is most similar in meaning to
the word ‘grimace’ as used in the phrases ‘may make us
grimace with disgust™?

1. Pull a face

2. Beam

3. Grin

4. Smile

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34844245375 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘The perception of smell, therefore, consists not only of the
sensation of odours themselves, but of the experiences and
emotions associated with them.

The underlined word is a‘an
1. Preposition
2. Conjunction
3. Adverb
4. Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34844245376 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘smell is probably the most undervalued sense in many
cultures’.
The underlined word in the above expression is a/an

Adjective
Verb
Interjection
Adverb

il

B

Options :
1.1
2.2
3.3
4.4

Question Id : 34844245367 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (91 to 99)



Question Label : Comprehension

Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the correct options from
the given ones.

A survey conducted by Antony Synott at Montreal’s Concordia
University asked participants to comment on how important
smell was to them in their lives. It became apparent that smell can
evoke strong emotional responses. A scent associated with a good
experience can bring a rush of joy, while a foul odour or one
associated with a bad memory may make us grimace with disgust.
Respondents to the survey noted that many of their olfactory
likes and dislikes were based on emotional associations. Such
associations can be powerful enough so that odours that we
would generally label unpleasant become agreeable, and those
that we would generally consider fragrant become disagreeable for
particular individuals. The perception of smell, therefore, consists
not only of the sensation of odours themselves, but of the
experiences and emotions associated with them. Odours are also
essential cues in social bonding. One respondent to the survey
believed that there is no true emotional bonding without touching
and smelling a loved one. In fact, infants recognise the odours of
their mothers soon after birth and adults can often identify their
children or spouses by scent. In one well-known test, women and
men were able to distinguish by smell alone clothing worn by
their marriage-partners from similar clothing worn by other
people. Most of the subjects would probably never have given
much thought to odour as a clue for identifying family members
before being involved in the test, but as the experiment revealed,
even when not consciously considered, smells register. In spite of
its importance to our emotional and sensory lives, smell is
probably the most undervalued sense in many cultures. It is true
that the olfactory powers of humans are nothing like as fine as
those possessed by certain animals, they are still remarkably
acute.

Sub questions

Question Number : 91 Question Id : 34844245368 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The above research tries to establish the fact that
1. we are surrounded by odours all the time.

a sense of smell is learnt.

we make use of smell without realizing it.

male and female sense of smell is different.

w19

i

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34844245369 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The odours generally labelled as unpleasant may be
considered fragrant for some individuals because of
a) the cultural association with a particular fragrance
b) the emotional association with a particular fragrance
c) the physical association with a particular fragrance
d) the sensational association with a particular fragrance

(1) (a) and (b) are both right
(2) (b) and (c) are both right
(3) (c) and (a) are both right
(4) (d) and (b) are both right

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 34844245370 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Odour does not generally play any role in :
(a) making marriage matches.
(b)identifying family members.
(c) creating a bond between infants and mothers.

. (a) is right and (b) is wrong
. (b) is right and (c) is wrong
. (c) is right and (a) is wrong
Both (a) and (b) are right

L d =

&

Options :



1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34844245371 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The experiment concluded that olfactory power of a human
being is
1. quite discerning
yet to be defined
a physical reaction
almost damaged

w1

s

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34844245372 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Odour sometimes helps in creating social
associations
(b) A person’s cloths can also help us in identifying him

(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

W -

i

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 34844245373 Question Type : MCQ Option Shuffling : No

Which one of the following words is most opposite in
meaning to the word ‘undervalued” as used in the phrase :
‘the most undervalued sense...........°

glorified
endeavoured
praised
prized

L R O R

-

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 34844245374 Question Type : MCQ Option Shuffling : No

Which of the following words is most similar in meaning to
the word ‘grimace” as used in the phrases ‘may make us

grimace with disgust™?
1. Pull a face

Beam

Grin

4. Smile

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id

: 34844245375 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*The perception of smell, therefore, consists not only of the
sensation of odours themselves, but of the experiences and
emotions associated with them. *

The underlined word is a/an
1. Preposition
2. Conjunction
3. Adverb
4. Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34844245376 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*smell is probably the most undervalued sense in many

cultures’.
The underlined word in the above expression is a/an

Adjective
Verb
Interjection
Adverb

il il

B

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3484422361

Question Shuffling Allowed : Yes



Question Id : 34844245377 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanza given below and answer the questions / complete the
statements that follow with the help of given options.

Then we began to ride. My soul
Smoothed itself out_a long-cramped scroll
Freshening and fluttering in the wind

Past hopes already lay behind.

What need to strive with a life awry?

Had I said that, had I done this,

So might I gain, so might I miss.

Might she have loved me? Just as well

She might have hated, who can tell!

Where had I been now if the worst befell?
And here we are riding, she and L.

Sub questions

Question Number : 100 Question Id : 34844245378 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet thinks that his life has
1. been very smooth
2. gone wrong
3. been very happy
4. been a mystery

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34844245379 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The poet’s attitude to his life is
1. very indifferent.
2. that of a very concerned person
3. pessimistic
4. full of hopefulness.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34844245380 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

* My soul
Smoothed itself out a long -cramped scroll’.

The Figure of speech used in these lines is;
1. Simile
2. Metaphor
3. Hyperbole

Onomatopoeia

>

Options:
1.1
2.2
3.3

4.4

Question Number : 103 Question Id : 34844245381 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Freshening and fluttering in the wind’
The Figure of speech used in this expression is:
l. Simile
2. Metaphor
3. Onomatopoeia
4. Personification

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34844245382 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The Poet /lover is an introvert
(b)Even a little joy can satisfy him

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right

Both (a) and (b) are wrong

&

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34844245383 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements.

(a) The beloved has not vet decided about her love.
(b) The lover is worried about his past failures.
(c) Ultimately he finds some joy in life.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. (b) is right and (c) is wrong
4. (c) is right and (a) is wrong

Options:

1.1

2.2

3.3

4.4

Question Id : 34844245377 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanza given below and answer the questions / complete the
statements that follow with the help of given options.

Then we began to ride. My soul

Smoothed itself out_a long-cramped scroll
Freshening and fluttering in the wind

Past hopes already lay behind.

What need to strive with a life awry?

Had I said that, had I done this.

So might I gain, so might I miss.

Might she have loved me? Just as well

She might have hated, who can tell!

Where had I been now if the worst befell?
And here we are riding, she and L.

Sub questions

Question Number : 100 Question Id : 34844245378 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet thinks that his life has
1. been very smooth
2. gohe wrong
3. been very happy
4. been a mystery

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34844245379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet’s attitude to his life is
1. very indifferent.
2. that of a very concerned person
3. pessimistic
4. full of hopefulness.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34844245380 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

* My soul
Smoothed itself out a long -cramped scroll’.

The Figure of speech used in these lines is:
l. Simile
2. Metaphor
3. Hyperbole

Onomatopoeia

=

Options :



1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34844245381 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Freshening and fluttering in the wind’
The Figure of speech used in this expression is:
l. Simile
2. Metaphor
3. Onomatopoeia
4. Personification

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34844245382 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The Poet /lover is an introvert
(b)Even a little joy can satisfy him

. (a) is right and (b) is wrong
. (b) 1s right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

L b —

&

Options:
1.1
2.2
3.3



4.4

Question Number : 105 Question Id : 34844245383 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The beloved has not vet decided about her love.
(b) The lover is worried about his past failures.
(c) Ultimately he finds some joy in life.

1. (a) isright and (b) is wrong
2. (b) is right and (a) is wrong
3. (b) is right and (c) is wrong
(c) is right and (a) is wrong

o

2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3484422362

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 34844245384 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which theory if learning believes in ‘the source of development resides in the environment rather than in the
individual’?
|. Behaviorism
2. Nativism
3. Communicative language teaching
4. Social constructivism
Options :
1.1

2.2



3.3
4.4

Question Number : 106 Question Id : 34844245384 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which theory if learning believes in ‘the source of development resides in the environment rather than in the
individual’?

|. Behaviorism

2. Nativism

3. Communicative language teaching

4. Social constructivism

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34844245385 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of language?
1. Language is scientific system.

Language is written and meaning.

Language is a system of systems.

4. Language is structure and forms.

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34844245385 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is true of language?
1. Language is scientific system.
2. Language is written and meaning.
3. Language is a system of systems.
4. Language is structure and forms.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34844245386 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are those words, for, info, which, by known as?
1. Content words
2. Function words
3. Connection words
4. Coherence markers

Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34844245386 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are those words, for, into, which, by known as?
1. Content words
2. Function words
3. Connection words
4, Coherence markers

Options :

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34844245387 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘1 + 1 " as the ‘comprehensible input” proposes

providing learners the language to their level of language and forms.
inputs received by learners through textbook and the teacher.
exposing leaners to language slightly above their level of language.
exposing to texts and materials above the level of learners.

W -

-

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34844245387 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘1 + 1 " as the ‘comprehensible input” proposes

providing learners the language to their level of language and forms.
inputs received by learners through textbook and the teacher.
exposing leaners to language slightly above their level of language.
exposing to texts and materials above the level of learners.

W -

P

Options :
1.1
2.2
3.3
4.4



Question Number : 110 Question Id : 34844245388 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism means
1. learning in many languages in school.
2. learners begin their schooling in the other tongue / home language and move on to add at least two more
languages.
3. learners learn their local language, state language, Hindi, English and classical and foreign languages.
4. learners learn through the medium of the state language and add Hindi and English

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34844245388 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism means
1. learning in many languages in school.
2. learners begin their schooling in the other tongue / home language and move on to add at least two more
languages.
3. learners learn their local language, state language, Hindi, English and classical and foreign languages.
4. learners learn through the medium of the state language and add Hindi and English

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34844245389 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A reader reads a text on the impact of the pandemic, COVID-19 on learning of children in primary school to get the
overall idea to present in a meeting, What is this reading known as?
. Reflective reading
2. Critical reading
3. Skimming
4. Scanning
Options :
1.1
2.2
3.3

4.4

Question Number : 111 Question Id : 34844245389 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A reader reads a text on the impact of the pandemic, COVID-19 on learning of children in primary school to get the
overall idea to present in a meeting. What is this reading known as?
. Reflective reading
2. Critical reading
3. Skimming
4. Scanning
Options :
1.1
2.2
3.3

4.4

Question Number : 112 Question Id : 34844245390 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A listener while listening listens to the main idea, predicting drawing inferences and summarizing. What are strategies
known as?

. Top —down processes

2. Bottom —up processes

3. Analytical processes

4. Cognitive processes



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34844245390 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A listener while listening listens to the main idea, predicting drawing inferences and summarizing. What are strategies
known as?

. Top —down processes

2. Bottom —up processes

3. Analytical processes

4. Cognitive processes

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34844245391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Procedural knowledge in learning grammar is

knowledge about the form. describing and apply it in limited practice.
understanding how a grammatical form function in use and apply same.
learning the rules of grammar in order to replicate it later.
understanding how a grammatical form is described in a grammar book.

e

o

Options :
1.1
2.2
3.3



4.4

Question Number : 113 Question Id : 34844245391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Procedural knowledge in learning grammar is

knowledge about the form, describing and apply it in limited practice.
understanding how a grammatical form function in use and apply same.
learning the rules of grammar in order to replicate it later.
understanding how a grammatical form is described in a grammar book.

Wb e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34844245392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ateacher of class VIII while teaching a grammatical item of reported speech asked her learners to read a story / text in
which the direct statement appeared many times and she mads them convert into indirect statement with her support.
She also gave them many more sentences to do on their own. Then she drew the attention on how a direct statement gets
converted info indirect and how the changes in verb, adverbs and others occur. What is this strategy known as?

I Study-Engage-practice

2. Consciousness raising

3. Conversion of direct speech

4. Conventional grammatical knowledge

Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 34844245392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class VIII while teaching a grammatical item of reported speech asked her learners to read a story / text in
which the direct statement appeared many times and she mads them convert into indirect statement with her support.
She also gave them many more sentences to do on their own. Then she drew the attention on how a direct statement gets
converted info indirect and how the changes in verb, adverbs and others occur. What is this strategy known as?

1. Study-Engage-practice

2. Consciousness raising

3. Conversion of direct speech

4. Conventional grammatical knowledge

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34844245393 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do NOT come under institutional writing?
a. Reviews
b. Curriculum Vitae
c. Condolence message
d. Diary entry

aand b
candd
b and c
danda

L O R

>

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 34844245393 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do NOT come under institutional writing?
a. Reviews

Curriculum Vitae

Condolence message

Diary entry

e n o

aand b
candd
b andc
dand a

L R O R

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34844245394 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the following writing task called?
Imagine you the narrative in the story and write a letter to your friend describing your experience that day.

1. Creative writing

2. Letter writing

3. Extrapolative writing
4. Long answer writing

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34844245394 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the following writing task called?
Imagine you the narrative in the story and write a letter to your friend describing vour experience that day.

1. Creative writing

2. Letter writing

3. Extrapolative writing
4. Long answer writing

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34844245395 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Basic Interpersonal Communication Shills is known as
1. Higher order language skills and abstract language

Language of abstraction

Language used for day-to-day communication

4. Interlanguage

W 1

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34844245395 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Basic Interpersonal Communication Shills is known as
1. Higher order language skills and abstract language

Language of abstraction

Language used for day-to-day communication

4. Interlanguage

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34844245396 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following could be “the while reading activity” when doing a short story?

l. Learners discuss to predict the events in the story

2. Learners do pair work and read mutually to one another
3. Learners discuss biographical details of the poet

4. Teacher asks meaning of new words

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34844245396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following could be “the while reading activity” when doing a short story?

l. Learners discuss to predict the events in the story

2. Learners do pair work and read mutually to one another
3. Learners discuss biographical details of the poet

4. Teacher asks meaning of new words

Options:



1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34844245397 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a poetic device?

Simile
Character sketch
Image

Metaphor

el

e

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34844245397 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a poetic device?

Simile
Character sketch
Image

Metaphor

e v

s

Options :
1.1
2.2
3.3
4.4



Question Number : 120 Question Id : 34844245398 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language assessment aims at measuring
1. how each learner achieved in comparison to his peers.
2. their overall or summative achievement.
3. language achievement of learners.
4. the language proficiency of learners.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34844245398 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language assessment aims at measuring
1. how each learner achieved in comparison to his peers.

their overall or summative achievement.

language achievement of learners.

the language proficiency of learners.

w1

B

Options :
1.1
2.2
3.3
4.4

Language II

Section Id : 3484421185

Section Number : 4



Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3484422363
Question Shuffling Allowed : Yes

Question Id : 34844245399 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Question Number : 121 Question Id : 34844245400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. fasmor

]
ﬁ-‘

3. Ed
4, GIIH
Options :
1.1
2.2
3.3

4.4

Question Number : 122 Question Id : 34844245401 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SATEHT =T <19 39 LRAT T T ST 2-
|, Ot oRE a9

ATfE FTA d

4. T AT 9T I

-2

s

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34844245402 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



STETHT % gRT 99 SATSR 518 TU-
| U
4, AREH

]

(F¥]

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34844245403 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TN o STTER SATEHT 1 S 6 folq we et 747 foh-
1. T9Eafd 3mE
. A

Options :

S

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34844245404 Question Type
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. 99731
RIERIED

B

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34844245405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
RIS % STT9R W & 91 F9 Gl T8 82
. STERI 61 @I #7741 2
. STTEHT 3 T SET STR Tl i
4. TEC WITE TR 1 & TR 5]

S

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34844245406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
eIl o1 gt T8 -

[ gl

2. 90

3 e =

4. TdH
Options:
1.1
2.2

3.3



4.4

Question Number : 128 Question Id : 34844245407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=g AR T 379 &-
2. 9R TE
4. IR EHH

Lt

Options:
1.1
2.2
3.3
4.4

Question Id : 34844245399 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 34844245400 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. fersreor
2. feram

Rl

4. FEAH

Options :

Tad

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34844245401 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST &1 970 29 T 7 THT 1T 8-
. U 3RS A1 d

21T 3TE a1 T

4. UTE @@ 9T 98
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Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34844245402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
SATETHAT % gRT TE99s TSR 5718 TU-
. TR
GIEED
FiEF
4. ARH

]

(F¥]

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34844245403 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR o SATAR SAEH A S % (g Har T a7 -
1. Tt TS
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Options:

]

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34844245404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. I973Tl &
RlERIEa|
R

Options:

B

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34844245405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TRITYT & STT9R W 1 91 F4 G2l 181 22
. STERI 1 GI= #1741 2
TE Aie TR Fi & AR 7]

Bowo



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34844245406 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

STTET T gt 9851 2-

Lad [
il o

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34844245407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. AXHH
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L S]

Options :
1.1
2.2
3.3
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Sub-Section Number : 2
Sub-Section Id : 3484422364
Question Shuffling Allowed : Yes

Question Id : 34844245408 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions



Question Number : 129 Question Id : 34844245409 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. % o P e ferl
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Tad

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34844245410 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT ST I U fohaeh 27 98 e+ fhashr 22
1. Tl

Epat, : e
g

3. A e
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0 s
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Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34844245411 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

L R

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34844245412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34844245413 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34844245414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST =@ & 379 -
1. SEET ol
T FA T

Bowo

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34844245415 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 34844245408 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



G | B T =T =l 517 T A1, W W e WA Wiad §¢
ek - FEl- “H3 ol Hhm @ awet @R 3@ & fHuer o, a9
ST 36 R - SRV H{ 3 H1¢ @3] AT 379 af S <,
T 3EU U FIUHS SATCHT... TR off Uehen y=fier fohed o €, T3 o

T g1 T T[T © o 3ok mnferant o gt 21 A feeramr sy
7E 1 Tl g o e fora & R o STei@R STar g4 e @t 37l
BH 3% SRETY X 16 3R & I3 W1 e wh1e W 1% 1 < a1 T8
[EEIKIEC R |18
=QId §U HEl- 31 <, Te Al STl ok Te ] [haT ol 1 36 HHa &l
Bl 1T e €| Tl 3 qLE SITAN SIS < I A1 T 396 Tfetahi
il ST | 51T FHJA T GTe T I, 3T 39 AR e 1 aeh
ST AT 8| 3 SEHTST SIS i H 3a ST 319 a1 3 3¢ 8 91
o 3l STR STHaX i 39 9% AR @S < 3l a2 Adis el o 3 34
3Tk e T, Tl TUTET 261 TR0 qgat 36 3101 =T ST 2 |
AT, TaT Tl e e foraaht € 37 3wehl 9ff fure R 4 58
Frdl 1 o ol FoT e o fearT STy STiE 21 uiTed @l H 99 @1 §
ATHER 7 foFeah g 22

T TS U g SR [T o1 €, S ¥ T ST SR 31|
EEICAELISIES
& IR, TR 1T IaEH H 3 7eE F... 319 ! 371 feha1 TR 2
T T & ST B T, 9 ST i X ST U a1d 0l a0t |

Sub questions

Question Number : 129 Question Id : 34844245409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR o STER 28 AT o fore EstiT i S e 22
1. % o W e ferl
2. el Tl e ol
3. Thel &l &M Tal =9
4, el T qHH el ez

Options :



1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34844245410 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT AT A2 e fhaET 27 98 wA {22
1. oo
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34844245411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

FE S N

1.1
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Question Number : 132 Question Id : 34844245412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34844245413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34844245414 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34844245415 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3484422365

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 34844245416 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34844245416 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34844245417 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34844245417 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34844245418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34844245418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34844245419 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 139 Question Id : 34844245419 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34844245420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34844245420 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 141 Question Id : 34844245421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 141 Question Id : 34844245421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 34844245422 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 34844245422 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 34844245423 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3

4.4



Question Number : 143 Question Id : 34844245423 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 144 Question Id : 34844245424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST FE F OIS JHE -
1. R & a8 T T, 999 FAT S o1e 5 39 Sro=miies gifeafaat @ w3 e
STRTER AT § 550 TohR T 5 €, 1 Tt ST 3TR 39 T 7T 1)
3. TEHTeHe oiad a9 fed-afafe = 329t & fore S o frmi =67 S )
4. SATRRT 7 e H O TR AT SR ATt |9/ S § S |

Ea—)

Options :
1.1
2.2
3.3

4.4



Question Number : 144 Question Id : 34844245424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST HTE T H0ese: S 2 -
|, TR % T T T, 99 FET SR 98 5 36 S0 TR fad T v i #7
2. TR0 WA ¥ fohdl TR o ohAd &, 7T T ST 3T 39 T
3. TEFTCH oRa" a9 fea-Tffe & 32t o forg TomoT 4 et =61 et 1|
4. ST o T H T ST AT SR aredtaeh ST / ara=ia 3 Sr &)

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34844245425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TE o A= =ROT § T g o S 1 wEd © -
3, TaegmveRes e
4, TIATCHF @

-2

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34844245425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TG o fafd= =0T § TR g o1 Fie &1 %2 © -
. T oiEH

]

Lad

Y

Options:
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 34844245426 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feraferfiaa e o © FH-91 o sHiaar e & for smes 22
T, AT T TFT SATHT-1378797 % fere tr =feyy
. T GUEAT, e 3R THHSH % e 2|
o, i W1 AT % SR Ye w2l
2. Hidar died st a9 arfehes foia =1 famm Fdt 21
.. FART
2.9, FIART
3.3, T HRT
9.9, 9 AR e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 34844245426 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ferfefd e B U % -1 2 T fS1E 3 fog s7es 22
31, AT T I SATHOT- 318707 o 7T T =fey)
|, hHiaeT W1 ST % SR Ye w2l
2. i Wied are T ATl T 1 faemr R 2
.3, THARH

T ART

A,z ARG

A, 9, 3ANE

Bowo

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34844245427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T &7 § F=4 9T 0T (CALP) 5o | &-
1. et qu ST fomm e T o ST g s o s 2|
3. HYUITEH 91T & 97|
1o ST o T ST ST B 2

S

g

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34844245427 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



THTHE T 6 F= STRAT 0T (CALP) S 3 2
1. STfee qoT ST o=, STt ST o mvesrs ¥ i o s €
3. HYOUITcH 91T & 19T

]

-

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34844245428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Al Ta4-8TT 1 G- & 79 5 96T
1. TERAT 3 T % A Serat qor fa=mi &1 gt @ 2|
ATfeleae 3530 1 T ol | T: ferem 2|
FETT T AT &9 F fa=IT07 T 2|
4. FEHT % AT W == A 2

!w‘l

Lad

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34844245428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Al Ta4-8TT 1 G- & 79 5 96T

1. TERAT 3 T % A Serat qor fa=mi &1 gt @ 2|
ATfeleae 3530 1 T ol | T: ferem 2|
FETHT o T T == T 2

!w‘l

Lad

g



Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34844245429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. Wm{s{*l’mmmmnﬁﬂ?mﬁﬁﬂ?ﬁml
). ST ST T s o ST forfr A T, e A AP |
3. Qfefcass w@ T FiaaT §R T 715 w15 HIeHs T2-aTaei|
4. T ST AT W H Tl 75 i v W, AeA-Afitean s A%

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34844245429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. AT ] FR1 T i S 1S o T A
ST AT AT He] T st feaftar a6 va-a, ger-Hfifean s aw|
3. ifefcas dEa a91 FEa1 g fAEl T8 #1E e 33-an|
4. STk AT o wie H foreell ¢ 2 v A, e A s A

E-.J

Options :
1.1
2.2

3.3



4.4

Question Number : 150 Question Id : 34844245430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

reTetfiers o & T1- VeI o EooT o 2Hieret o e o [T Herd U i iate &7
1. ot forell 2 T =0 e

. el Tt o sy feqen)

3. U oAV (e W) 2Rt G e e T 4 39 w wfafwa

4. TS H T AT a1 1)

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34844245430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

freietfiers o § T1- FoTeqTfefart o ST o 2hieret o Ao o 70 Werd I Tiiiarte &2
1. et forell v 1 0 e

. et feerfe o2 o fefe)

3. U FoA-amit (siifeat aTei) G au i €9 6 36 W it

4. TS H IS qIHRT 371 1|

]

Options:
1.1
2.2
3.3
4.4



